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1+ EE£ | BIK = tges | & 2R =7
1 |deiEE 1.1E+1 1.7E+3 4 6E+2 2,129.8
2 |FEHR 3.2E+0 1.5E+3 6.6E+1 1,541.6
3 |AFE 7.2E+0 1.2E+3 7.0E+1 1,275.9
4 |EHE 1.3E+1 1.2E+3 1.9E+2 1,361.6
5 |MHEER 5.0E+0 1.0E+3 5 5E+1 1,090.3
6 |ILEE 6.5E+0 7.4E+2 8.0E+1 8275
7 |BER 2.0E+1 1.7E+3 9.7E+1 1,770.9
8 |ZWE 3.8E+1 2.3E+3 1.8E+2 2,488.7
9 |HARR 6.9E+1 1.3E+3 1.4E+2 1,544.5
10 |HER 4.6E+1 1.9E+3 1.1E+2 2,052.9
11 [HER 5.9E+1 2.5E+3 5.8E+2 3,110.3
12 [FER 3.7E+1 2.6E+3 4 5E+2 3,134.8
13 |BRIRAD 2.9E+1 2.8E+2 1.7E+3 2,010.6
14 [#E)IE 5.5E+1 8.4E+2 8.6E+2 1,749.6
15 [FiRg 2.0E+1 1.9E+3 1.7E+2 2,094.2
16 [ELE 1.6E+1 5.8E+2 9.2E+1 692.0
17 [RINE 1.5E+1 7.0E+2 1.0E+2 815.9
18 [BHE 1.7E+1 5.7E+2 6.8E+1 652.2
19 [ILRE 1.8E+1 6.6E+2 5.5E+1 731.9
20 | RHER 1.4E+1 1.0E+3 1.8E+2 1,194.2
21 |IRBR 3.5E+1 1.5E+3 1.6E+2 1,709.3
22 |EEE 6.9E+1 2.7E+3 2. 5E+2 3,036.6
23 |EBHE 9.3E+1 4 3E+3 6.6E+2 5072.8
24 |=ZER 3.7E+1 1.4E+3 1.0E+2 1,536.6
25 [HER 3.0E+1 4 8E+2 1.2E+2 639.1
26 |FRERAT 2.5E+1 6.1E+2 2.6E+2 896.3
27 | KBRFF 1.8E+2 1.5E+3 9.8E+2 2,700.8
28 |EER 9.0E+1 1.2E+3 5.2E+2 1,771.4
29 |RRER 4.3E+1 6.3E+2 1.0E+2 770.6
30 |FnFLR 2.3E+1 1.3E+3 2 5E+1 1,352.5
31 |BIE 3.1E+0 4 9E+2 3.8E+1 528.1
32 |BRE 1.0E+1 8.3E+2 3.2E+1 875.1
33 |RILE 5.5E+1 1.3E+3 1.3E+2 1,448.8
34 |[EEBR 3.0E+1 1.5E+3 2.2E+2 1,768.7
35 |lLOg 1.4E+1 8.6E+2 8.8E+1 959.6
36 |EER 6.3E+0 9.7E+2 1.5E+1 987.6
37 |BNIE 9.4E+0 9.1E+2 4 6E+1 960.7
38 |BIRE 1.1E+1 1.1E+3 7.7E+1 1,237.6
39 | =58 2.9E+0 7.9E+2 2. 7E+1 82238
40 |[EREE 2.4E+1 2.0E+3 4.3E+2 2,480.2
41 |[EER 4.0E+0 7.7E+2 4 8E+1 825.0
42 |RIFE 3.9E+0 1.1E+3 7.9E+1 1,141.0
43 |REXR 7.9E+0 1.1E+3 1.1E+2 1,229.1
44 | K7 R 1.2E+1 1.1E+3 5.4E+1 1,121.0
45 |EIHFE 1.7E+0 7.8E+2 6.1E+1 844.4
46 |BRIEBE 2.7E+0 1.2E+3 6.2E+1 1,269.7
47 | HiEE 8.9E+0 1.3E+3 9.0E+1 1,362.1
2E 1.3E+3 6.0E+4 1.1E+4 71,616.8
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